Use Appendix B.5 to locate the value of t under the following conditions.

a. The sample size is 12 and the level of confidence is 95%.

b. The sample size is 20 and the level of confidence is 90%.

c. The sample size is 8 and the level of confidence is 99%.
SOLUTION

In this technique each individual of the population have equal chance of being selected as the subject. This whole process is completed in one go and each item is selected independently as compared to other members of population. . In addition to that, confidence level explains the proportion of all available possible samples which can be expected to be true population parameter.  Moreover, in survey sampling the different samples is selected randomly which produce different types of confidence interval. On the other hand, some confidence intervals involve the actual population parameter and other do not have. 
a.
2.201

b.
1.729

c.
3.499
